(mimim]
(mim|m]
000

[

T

Tilfejelse op til 5 (vandret)

Navn:

345=

5+5=

543 =

2+2=

3+4=

5+5=

3+3 =

444 =

5+5=

1+2=

1+1=

5+5=

2+5=

5+1=

1+2=

4+5=

3+2 =

4+2=

1+4=

5+5=

5+4 =

1+4=

4+2=

5+1=

3+2 =

143 =

1+5=

4+4=

1+5=

3+1 =

1+1=

4+5=

242 =

2+1=

4+3 =

2+5=

4+4=

1+3=
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Dato: Score:

5+2 =

2+3 =

543 =

444 =

1+5=

2+5=

5+5=

5+2=

1+4=

5+4 =

2+3 =

1 +4 =
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Tilfejelse op til 5 (vandret)

il 0. .8 & I

[T
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Navn: Dato: ___ Score:____
3+5=28 5+1=6 1+5=6 5+2=7
5+5=10 1+2=3 4+4=28 2+3=5
5+3=8 4+5=9 l1+5=6 5+43=28
2+2=4 3+42=5 3+1=4 4+4=38
3+4=7 4+2=6 1+1=2 1+5=6
5+5=10 1+4=5 4+5=9 2+5=7
3+3=6 5+5=10 2+2=4 5+45=10
4+4=28 5+4=9 2+1=3 5+2=7
5+5=10 1+4=5 4+3=7 1+4=5
1+2=3 4+2=6 2+5=7 5+4=9
I1+1=2 5+41=6 4+4=28 2+3=5
5+45=10 3+2=5 1+3=4 1+4=5
2+5=7 1+3=4
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